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Important Trigonometric Formulae

SIn(A+B) = sinAcosB + cosA sinB
sin(AB) = sinAcosB - cosA sinB.
cos(A+B)

c0s(A-B) = cosAcosB + sinA sinB
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SHAD =, cotB - cotA
$in2A = (a) 2sinAcosA
2tanA
O T A
©0s2A = (a) cos’A - sin'A
(b) 1-2sin'A.
{¢) 2co8’A -1
(@) LtawA
o 2k
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sin3A = 3sinA - dsin’A.
c0s3A = 4cos’A - 3cosA.
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BESBRER B

3tanA - tardA.

sin-A) =-sinA
cos(-A) = cosA
sinA+ cor'A =1
14 taniA = secA
14 coPA = cosec’A.
1- cor2A = 2sintA
1+ con2h = 208t
1-8in2A = (cosA - sinAY:
14 8in2A = (cosA + sinA):
1+tanA x
Tung A

tanA x
gonns %A
SinA - si%B = sin(A+B) sin(A -B)
oA - 8inB = con(A+B) cos(A -B)
cosiA - cos®B = -in(A+B) sin(A -B)
ZsinAcosB = sin(A+B) + sin(A -B)
2cosAsinB = sin(A+B) - sn(A -B)
2c08AcosB = cos(A*B) + cos(A -B)
2uinAsinB = cos(AB) - cos(A +B)
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(0 Wih 90 & 27 ratio will be hanged.
() Sign ofanswer, depends on posion o nta raio.
Sin(G0-A) = cosh
sin(@0°+A) = cosA
Sin(180°+ A) = -sinA
SnQ70 + A) = ~<cosA
Sin(60°+ A)=  sinA.





